N = 0l & At & Ml A

SN REBID
M SRS OF 2
Sl NSHA NS L AIDHE(FIHE) (Sl & &)
SA-EB - BAEH) - NRAY - BHES 0l & o p/E-F HIDE2
nsHIY 5,635,782 5,879,950 A 244,168
s 164,500 164,500 0
Al 167,300 167,300 0
- 5,303,982 5,548,150 A 244,168
hsns oo &= 2,578,793 2,026,949 551,844
s 164,500 164,500 0
Al 167,300 167,300 0
- 2,246,993 1,695, 149 551,844
WEMA M L ADHE(FIE) 846, 154 841,714 4,440
s 164,500 164,500 0
Al 164,500 164,500 0
- 517,154 512,714 4,440
WSHMANEE X8I 369,560 365,120 4,440
201 L Et2E | 9,600 5,160 4,440
02 2324l 9,600 5,160 4,440
OQusotdAdzE dJles S
Z & 9,600,000& 9,600 5,160 4,440
=XE HE5(FXHEY) 1,299,172 751,768 547,404
Al 2,800 2,800 0
T 1,296,372 748,968 547,404
SE=XE KX - 2el 282,343 582,343 A 300,000
401 Al HIZ 201 8] 140,400 440,400 A 300,000
01 A& HI 138,400 438,400 A 300,000
OXNZXN=-ASSF=AE g 38 03 0 300,000 300,000
SG=INE HE 853,000 2,000 851,000
401 AIEHI L 201 853,000 2,000 851,000
01 A& HI 853,000 2,000 851,000
O2Z20| SESS=IEIY HE SAMH(SH)
851,000,000& 851,000 0 851,000
ClbI & A 22 54,756 58,352 A 3,596
801 OilHI 8l 54,756 58,352 A 3,596
01 Btolbltl 54,756 58,352 A 3,596
Oaolgldl Z & 54,756,000 54,756 58,352 A 3,596
HWees(nsSa#H &) 3,988 0 3,988
SBEXNE(FXE) 3,988 0 3,988
EX3EE3 3,988 0 3,988
802 gt&t= DI EF 3,988 0 3,988
01 T DNEBXSHE= 240 0 240
OQus At 2= e AL 1,610& 2 0 2
OUSAMD R MNEALS(0IXL) 66,320 67 0 67




SN DEHIHD
I s (nsdF)
ool HEXE(ZNE) (el & a)
SAH-AH -2 (SA) - HREAY - BES 01l Ao IR Husz
O020IBE7Y HMAY (FCADH =)
138,550 139 0 139
O020IBE7Y HMAY (FADH =HI)(
Ol &+) 31,6802 32 0 32
02 Al - THIEBEXEZ2Ea2 3,748 0 3,748
02020 @I F=XEAFL (Ol XH) 21,550 22 0 22
OREAD SR HEMY 1,6202 2 0 2
OREAD SR WAAMA(0IX) 82,530 83 0 83
OXEsn FH 2olck=3tH 2t & X
2,459,9802 2,460 0 2,460
Oxsstn =9 2oa=310 et & X (0l Xt)
192,390 193 0 193
Q020857 HH|IAY 625,500 626 0 626
O02l0l85 7 HMHIA(0IXH) 285,450 286 0 286
ONRI0IEERYE HMAIS (Z=IADN =H|)
69,280 70 0 70
ONBoIBERA HMAFS (Z=IADH =HI)(
Ol &+) 5,220 6 0 6
HRssS(DS#HFD) 1,707,000 2,507,000 A 800,000
WEHHXIS(F=XHE) 1,707,000 2,507,000 800,000
SEHEAESII2 1,707,000 2,507,000 A 800,000
704 O E 3 1,707,000 2,507,000 A800,000
01 OlE = 1,707,000 2,507,000 A 800,000
OSEMELHESE HES
A=A 1,707,000,000 1,707,000 2,507,000 A 800,000




